1. Eggs are

packed in

boxes of 4.

How many

boxes would

be needed for =

24 eggs? o o

2. There are 3
pencils in each
pack. How
many penCiIS In
6 packS?

3. A group of 70
children go on a
school trip. Each
mini bus will hold
5 children. How
many coaches

are needed?

4. Sam has
23p Lollies
cost 6p each.
How many
lollies can Sam
buy?

{ée

5. There are 9
chairs in one
row. How many
chairs in 3
rows? \

6. There are 14
children in each
class at St

Cuthbert's Hig
Primary. How

many children in
the school are
there if there
are 4 classes?




1. Eggs are

packed in

boxes of 6.

How many

boxes would

be needed for =

68 eggs? .

2. There are 4
pencils in each
pack. How
many penCiIS In
14 packs?

3. A group of 64
children go ona
school trip. Each
mini coach will
hold 8 children.
How many
coaches are

needed?

4. Sam has
43p. Lollies
cost 3p each.
How many
lollies can Sam
buy?

{ée

5. There are 8
chairs in one
row. How many
chairs in 16
rows? \

\

W

6. There are 16
children in each
class at St

Cuthbert's Hig
Primary. How

many Ch”dr'en in
the school are

there if there
are 7 classes?




1. Eggs are 2. There are 8 3. A group of
packed in pencils in each 173 children go
boxes of 6. pack. How on a school trip.
I Each mini coach
How many many pencils in will hold 7
boxes would 35 packs? children. How
be needed for = many coaches
137 eggs? . .= are needed?
. //@
4. Sam has 5. There are 6. There are 23
93p. Lollies 12 chairs in children in each
cost 6p each. one row. How Z'L‘I:‘f;bfrﬁ';
How many many chairs in Primary. How ——

lollies can Sam
buy?

{ée

15 rows? | \

v

many children in
the school are
there if there
are 12 classes?




